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Question 1
Question Type: MultipleChoice

Which of the below choices are horizontal pattern types? (Choose two.)

Options: 
A- Hardware

B- Software

C- Infrastructure

D- Application

Answer: 
C, D

Question 2
Question Type: MultipleChoice



Which choices are necessary to launch any pattern? (Choose two.)

Options: 
A- CI Classification

B- CI Serial Number Attribute

C- Data Certification

D- CI Type

Answer: 
A, D

Question 3
Question Type: MultipleChoice

By default, which of the following are automatically available as variables for horizontal discovery patterns? (Choose two.)



Options: 
A- infrastructure_system

B- The CI Type on the Discovery Pattern form

C- windows_cmdb_ci

D- computer_system

Answer: 
B, D

Question 4
Question Type: MultipleChoice

Which of the following choices are only used for the Application Pattern Type? (Choose two.)

Options: 
A- Run Order



B- Identification Section

C- CI Type

D- Operating System

Answer: 
A, D

Question 5
Question Type: MultipleChoice

Which of the following does the ECC Queue provide? (Choose two.)

Options: 
A- Login credentials for the MID Server host.

B- The actual XML payload that is sent to or from an instance.

C- A connected flow of probe and sensor activity.

D- The process responsible for defining, analyzing, planning, measuring, and improving all aspects of the availability of IT services.



Answer: 
B, C

Question 6
Question Type: MultipleChoice

What related list on a classifier dictates which Horizontal Pattern probe is launched?

Options: 
A- Discovery Log

B- Classification Criteria

C- Pattern probes

D- Triggers probes

Answer: 
C



Question 7
Question Type: MultipleChoice

Which of the choices provides active discovery errors with a help link for each error?

Options: 
A- Discovery Dashboard

B- IP Address Failure Report

C- Discovery Schedule

D- MID Server Dashboard

Answer: 
A

Question 8
Question Type: MultipleChoice



For CMDB Health, relationships can be which of the following choices? (Choose three.)

Options: 
A- Duplicate

B- Stale

C- Orphan

D- Required

E- Recommended

Answer: 
A, B, C

Question 9
Question Type: MultipleChoice

When is the Extension section in a horizontal pattern executed?



Options: 
A- As part of the post sensor processing script

B- After the Identification sections

C- As part of the port scan

D- Before the Identification sections

Answer: 
B

Question 10
Question Type: MultipleChoice

The CMDB contains which of the following record types? (Choose two.)

Options: 
A- Model



B- Configuration Item (CI)

C- Asset

D- Relation Type

Answer: 
B, D
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